9-4 & 9-5 Solving Right Triangles

Solving a right triangle means to determine the measures of all six parts. You can solve a right
triangle if, in addition to knowing the right angle, you know any of the following:

1. Two side lengths

2. One side length and one acute angle measure

*knowing the measure of both acute angles in not enough information to determine the lengths
of the sides.*

Ex 1: Use the Pythagorean Theorem to solve for c.
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To find the measure of £A4, use the trigonometric ratio:
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Once you know the tangent of 4, you can use your calculator to obtain a decimal approximation
of mZ4.

tan™ (1.25)~51.3 after getting the m£4 you can get the measure of angle B because you have
two angles 90 and 51.3 so angle B =38.7



Given the lengths of two sides of the right triangle, find the length of the other side and the
measure of the acute angles. (round)

A

Given one side and one angle, find the other sides and the measure of the other acute angle.
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Solve the right triangle. Round decimals to the nearest tenth.




Solve the right triangle. Round decimals to the nearest tenth.
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Find the missing lengths B
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Leo is chasing RJ in anger across Fairmont Field over something he said during 7" period. Will
and Henry notice that RJ makes a sharp 120 turn to avoid Leo at which point Leo slips trying to
turn with him. As Leo sits on the ground, RJ runs 20 yards and then stops when he notices that
he is at a right angle between himself and Will, Henry, and Leo (see below).

RJ

Will & 120°
Henry Leo

(a) How far away is Leo from Will and Henry? Label your sides and angles in your answer.

(b) How far away are Will and Henry from RJ?



